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wigera

1.1) F

1.2) Ii23

1.3) FORTRAN

1.4) x1.3

1.5) -1234

1.S)  3ABC

1.7) XRAY

1.8) .000000006

1.9) +72

1.10) 4(Y)

1.11) AlB2C

1.12) 234-567-999

1.13) lA2B3C

1.14) IRAY

1.15) COUNT

1.16) KOUNT

1.17) 3+4

1.18) I2+1

1.19) $300.50

1.20) 3 < 4
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2.2) ;c

2.3) a-
b5

2.4) ax’+bx+c

2.5) k

1

2.6) y3

2.7) d? (n = 3.1436)

.5
2.8) -f- - -

x+y  xz

2.9) 2(xy-1)

2.10) -x2

2.11) ax+Y+3.5

2.12) Y+aX

Y-Y0  x-x0
2 .13 )  - -

Y,-Yo  x1-x0

1
2 .14)  Z- l+  3

2 + - -
l - x

2.15)
-b+ db2-4ac

2a

2.16) U2”

mml  : i‘kiebnl~l~~i~bn~~

x*(Y+z)

A/B*C %&I  A*C/B

A/B**5

A*X**S+B*X+C  n%  A*X*X+B*X+C

A/(B*S)

Y**(1./3.)

3.1416*R**2 M% 3.1416’*R*R

A/(X  + Y) - .5/(X*Z)

2.*(x*Y**(-1))

-x**2

A**(x+Y)+3.5

Y+A**X

Z-1.+1./(2.+3./(1.-X))

(-B+SQRT(B**2-4.*A*C))/(2.*A)

U**(2*N)

2.17)
4(x::+~+x32)-(xl+xe+~)2

3(3  - 1)

WnJ  ((4.*(Xl*Xl+X2*X2+X3*X3)-(Xl+X2+X3)**2)/(3.*(3.-1.)))**.5
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3.1)

10

3.2)

5

3.3)

11

3.4)

16

3.5)

7

3.6)

12

3.7)

15

3.8)

11

WRITE (6, lo), A, 8, C

FORMAT (1X,@,  F2.0, F3.0)

WRITE (6, 5) I, J

FORMAT (1X, 14)

WRITE (6, 11) 4, 5.230
FORMAT (T5, 12, F4.2)

WRITE (6, 16) A, I, J

FORMAT (T3,@,  12, 11)

WRITE (6, 7) A, K, C

FORMAT (F5.2, 13,@)

WRITE (6,@)  X, Y

FORMAT (2X, F3.1, F3.1)

WRITE (6, 15) I,
9
X , K

FORMAT (1X, 12,@,  11)

WRITE (6, 11
0

X - Y

FORMAT (F3.2, F4.0)

SWQd
4.1) A**2  + B

4.3) A**B

4.5) A/B

4.7) A/B/2

4.9) J/I

4.11) A**1

4.13) A”2**3

4.15) J’*B
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dl9lQU ihl~
7. 4.2) I + 2/3

.lllllll 4.4) A*3. + B*4

-1 .5 4.6) A/B*3 + A

-.75 4.8) A/B  + 2.

0 4.10) I/J

729. 4.12) (A + 1)/B

6561. 4.14) B”B

error (th~WJl9  compilers

n’lcil69J

6

1 .

- 1.5

0.5

error

-4 .5

error
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LLR:  J = 0

ilml

5.1) x = I 6.

5.3) X = (I + 3)/2 4.

5.5) X = I**B .02777’78

5.7) X = J 0.

5.9) IX = J*A 0

5.2) IX = A

5.4) IX = -A + B

5.6) X = J*I/.l

5.8) X = B**J

I=4

A=1

B=2 m¶l

S = (3/1)*3 s LAwi 0.

J = (3./9)*3 J Ln”wil  0

JK = (A + 2./B)/2 J K  Lihi?  1

7. LL~~Wil%W&h  A bdOfhPb&l  format code I$!

mo¶J

7.1) A = 743.25 F10.3 ,,,743.250

7.2) A = 328.74 F5.2 *****

7.3) A = -643.281 F7.2 - 643.28

7.4) A = .37 F5.2 hA.37
7.5) A = -4768.6 F6.0 - 4769.

&mll

3

- 5

0.

1 .
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8.1;

l(

8.2

1 1

8.3

1:

8.4

1:

8.5

1

8.t

1

;) :

2 :

3

: = 3 .2

I = X*.16

YRITE (6, 10) X, Y

PORMAT  (3X, F4.0, TlO, F9.2, ‘ALL’)

= +1632

- 4=

i = I/J

YRITE (6, 11) I, J, K

“ORMAT (T8,  14, 3X, 11, ‘+‘,  15)

lx = 4.3257

IY = -.0008

:z  =  x x  +  Y Y

YRITE (6, 12) XX, YY, ZZ

PORMAT  (T4, F7.3, F7.3, F7.3)

IBC  = 19.2

53 = 4

WRITE  (6, 13) IJ3, ABC

I’ORMAT  (2X, 14, 32,  F6.0)

= .8

.6 =

Z = I + J

WRITE (6, 11) Z

FORMAT (1X,  F2.0, ‘12, F4.1’)

I = 11

WRITE (6, 12)I

FORMAT (12)

WRITE (6, 13)

FORMAT (‘l’, ‘l’,  ‘ALL’)

Blml

j.1) MAAA3.  hhhhhMh~5lA=L

1.2) AhhAAhhl632Ahh  * + h - 4o8

5.3) nAnAn4.326,A-.001,,4.325

1.4) AAAAA4  AAAAM lg.

S.5)  ,0.12,F4.1
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mnl

CT2345  6

C

C

12

+

78

DF = DEGREE FAHRENHEIT

DC = DEGREE CELCIUS

DF = -126.9

DC = 5./9.*(DF-32)

WRITE (6, 12) DF, DC

FORMAT (5X, F6.1, ‘DEGREE FAHRENHEIT’, 5X, F10.5,

‘DEGREE CELCIUS’)

STOP

END

BlQlJ

C2345 6

C

10

78

PROBLEM 10.1

R  =  .04

T=3

P = 100

RI = P*R*T

WRITE (6, 10) RI

FORMAT (5X, ‘INTEREST =‘,  F6.2)
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C2345

C

1 1

C

1 2

C

1:

PROBLEM 10.2

C = 3.1672

v  =  c**3

WRITE (6, ll)V

FORMAT (5X, ‘VOLUMN = ‘, F8.4)

PROBLEM 10.3

PI = 3.1416

R = 6.2

A  =  PI*R*R

WRITE (6, 12)A

FORMAT (5X, ‘AREA OF A CIRCLE =‘,  F8.4)

PROBLEM 10.4

R = 9.1

H = 4.932

VOL = (1./3.)*P18R**2*H

WRITE (6, 13) VOL

FORMAT (5X, ‘VOLUMN OF A CONE =‘,  F10.4)

STOP

END

TEMP = S

S = T

T = TEMP
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9lmJ A l  =  .0056

A2 = 135.77

A3 = SQRT (Al*Al + AZ*A2)

WRITE (6, 12) Al, A2, A3

12 FORMAT (1X, ‘SIDE 1 = ‘, F8.4/
* 1X, ‘SIDE 2 =I, F8.41

* 1X, ‘SIDE 3 =‘,  F8.4)

STOP

END
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